[ Efficiency vs vertpos |

—_

0.5

20.45

[
>
>

0.4

9
$0.35

ettic

Ratio

0.3

0.25

0.2

0.15

0.1

0.05

?fffffffffﬁgﬁffffffffffféffﬁfﬁff%éﬁffffffff

0

CIN:] EoEERPRTRRY FERES BB 5 B

E : + :
3‘H’+,+.+_H a*#‘#*‘* +l. L

=

1072 107

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

Efficienq —— pom_mkFit_TThase

efticiency vs vert z

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

Q

15

TP vert z (cm)

[ Efficiency vs. sim PV z |

N

0.2

>
20.18

£

50.16

20.14F
2 F
20.12F

0.1F
0.08F
0.06F
0.04F
0.02F

efticie

Ratio

IRARABREREN RERE;
Noooo,
%T'_F...... P
=
——

Sim. PV z (cm)



	Contents
	Page 1


